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Homework#4, Statistical Inference I, 2011 Fall 

 

1. Residual in LSE 

Consider a linear model   ZX , where ),0(~ 2

nn IN  . Let  

XZZZ TT  )(̂  be an LSE. Please give a proof for 

}]){(tr[ˆ 2 ZZZZnZXE TT   . 

 

2. UMP test 

Let ),5(~ pnBinY  .  

1) Please derive a UMP test for 3/2:     vs.3/1: 10  pHpH  of level 

05.0 . 

2) Study Lemma 6.1 (p.397), and then derive a UMP test for 

3/1:     vs.3/1: 10  pHpH . 

 

1.Answer 
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Hence,  
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2.Answer 
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Solving 05.0)3()4()5( 000  YPYPYP  ,  
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